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R CXZFMDEL
JIE 52 EFA Fhig = 1st |[2nd| 65% | 58%
1 FETHF |/\EFH 280 129 151 4 20
2 MEMNEY (BTHM 276 138 138 5 15
3 BEANKLF |BEREM 270 129 141 1 12
4 kI HBE |BTEWT 254 135 119 4 9
5 ERX HF [HUHR 226 121 105 2 10
6 pun BF |BiERX 188 107 81 1 1
R CEFNDER
JIE 52 EFA g = 1st |[2nd| 65% | 5 8%
1 #0O Fal |ZEW 320 158 162 12 21
2 FIU k] |BTH™ 318 161 157 9 28
3 =iE BAX |BHAFRX 308 160 148 10 23
4 BRK BX |BHAFREX 303 151 152 9 17
5 LT =58 |[#FE)IR 302 146 156 6 25
6 WWE BAk |#E)IR 296 152 144 10 15
7 EH E& [FERX 269 124 145 3 14
8 BR B [BAERX 264 144 120 4 10
9 ik EFf O(BERX 245 129 116 3 10
10 FE ZE# |)\EFWH 217 89 128 3 6
11 pun HE |[EiIRX 208 94 114 0 1
12 ] BiE PR 200 100 100 3 6
B BXZFMDEL
JIE 52 EFA Fhig = 1st |[2nd| 65% | 58%
1 e ¥ |BETHT 254 135 119 4 14
2 ANBAHFF |ETH™ 241 128 113 1 8
3 INEHH [HIER 195 102 93 5 8
BBEBFnNiER
JIE 52 EFA Bl t [2nd S8 | 588
1 INE f— |ETEM| 2178 149 129 5 6
2 M EN |EAR 272 143 129 6 15
3 £& K# |BTEST 267 123 144 1 12
4 K% 4B |BTH™ 265 134 131 1 11
4 e BTEH™M 265 133 132 1 11
6 [RH FSE|ETET 265 137 128 4 16
i e EF |ETHT 251 129 122 6 11
8 =t BAX |EHTEHM 242 112 130 5 10
9 HEER X |FJeEm 236 118 118 6 11
10 )l #$E |BETHS 235 118 117 8 5
11 ET # HEX 214 108 106 5 11
12 & =B |RHiER 212 100 112 2 8
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B 52 EFH FiiE =k 1st [2nd]| 658 | 58%
1 B E/\ |RIBR 399 199 200 46 19
2 P T | KHK 387 190 197 38 23
3 THEASR [WEIIE 3717 190 187 31 21
4 it H# (HEASKX 375 189 186 28 32
5 LtiE FBRE ([BEE 373 190 183 31 24
6 HEER A (IUFER 366 183 183 24 30
7 |3RE ##% [HRBER 360 180 180 22 31
8 BN =B (BET 307 165 142 16 23
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